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PURBANCHAL UNIVERSITY ]
20186
pplication (BCA)/Second Semester/ Final

Full Marks: 60/Pass Marks: 24 f
mming in C++ |

' 4 Years Bachelor of Computer A
Time: 03:00 hrs.

BCA176CO: Object Oriented Progra

Candidates are required to

, give their answers in their o
as practicable, S Ay

Rgure in the margin indicate full marks,

Group A

Answer TWO questions. 2x12=24
1

4. What is Object Oriented Programming? Explain main features of
OOP? What are its advantage over structured programming.
1+5+6

2. Explain briefly about advantage of using templates? What is
class template and function template, explain with syntax. 4+8

iw

Write a program to store information of students which has
features like studentID, name, roll number, address of n
number of student in file. Display information about all the
students stored in file in appropriate format in console. 6

Group B
Answer SIX questions. 6x6=36

4, Explain briefly about friend functions and friend class in C++
using appropriate example.

S. "Parameterized constructor of base class can be called by an
object of derived class.” Explain the statement with example.

6. Write a program to create a base class named "circle". Derive
another class "cylinder" from it. The program should calculate
total surface area of circle and cylinder using the concept of |
inheritance. Circle should have data fields- radius, area and a
method getRadius() should take value of radius from user.
Cylinder should have additional data field-height and an
additional method getHeight() to assign value of height. Area()
function calculates area and Display() function prints the final

contd. nee
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Group B

Answer SIX questions, 6x6=36

_-4. Prove that full adder can be implemented using two half adder.

What are the applications of master slave flip flops? Explain with

reference to JK flip flop.
What are the functions of decoder? Design a 3x8 decoder.

Simplify the Boolean Function using K-map
F (w, X, ¥, 2) =I1(,2,3,7,8,9,10,12,14)+ d(0,11)

Design 4:1 multiplexer.

What are the types of shift register? Draw the logic diagram of 4-
bit PISO shift register with timing dias:am.

s X& R ¢

Write short notes on (any TWO): 2x3=6
(a) ASCII code

_(bYEPROM

(c) Tri-state logic

3
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PURBANCHAL UNIVERSITY
2017
4 Years Bachelor of Computer Application (BCA)/Second Scmcqter/ Final

Time: 03:00 hrs. Full Marks: 80/Pass Marks: BZJ

BCAIOZSH: Mathematlcs-ll

e

Candidates are required to give their answers in their own words as far
as practicable.,

The figures in the margin indicate full marks.

Group A :

Answer TWO questions. 2x12=24

1(a) Find the volume of parallelopiped whose concurrent edges are

!

i

represented by the vector i +2j + 3k, 37 + 4] - 5k and X

3

i =27 +3k, 3

(b) If d=log(x2+y2+22), find div (grad¢) and curl (grad¢). :
a) What is exact differentidl equation? Solve the differential c
i’ ly Lo \

equatxon o 2)--—3;1 Fy=e' " - T i

Mclve the differential equation x(1+ y) % +(1-x)y*=0.

-

3(a) Obtain an equation of ellipse.

(b) Determine the vertices, foci, letrarectum directories of an ellipse.
9x% +5y* =30y =0
Group B

Answer EIGHT questions. R 8x7=56

x y z
/ Show that: |x* y° z? =(y=-z)(z=x)(x-y)yz +2zx+xp)

yz X Xy

] Coﬂtd' ey
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9.

10.

11.°

12.

(2)

B W -1 2 1
—"
fA=/0 1 4|and B=|'3 0 -1
2 30 2 1 0 qoul
then determine (AB)' and B'A’. jme:
' chd
Solve the system: !
2x—3y—z=4 ) B - ~ant
X - 2y -2z = 1 .
x—y+2z=9

by using Cramer’s rule.
Find the inverse of the matrix

1 2 -2
-1 3 0
0 -2 1 -

T i oy 28
Solve the differential equation: ~——=—2—"5".
, PR s Ldx xT=y S

Find the unit rector normal to the surface x2 y+2xz =4 at the

point (2, -2, 3)-

If ais a content vector, prove"that Vx(@axr)=2a

Transform the equation (x + 2)2 +(y- 3)2 +(z- 5)2 = 25 into

cylindrical and spherical coordinates system.

What is parabola? Find the equation of the parabola with vertex

at V(-2, -2) and directrix y = ‘-_‘3.

e '—'"‘.‘u‘.

o
\
\
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PURBANCHAL UNIVERSITY

2018
4 Years Bachelor of Computer Application (BCA)/Second Semester/ Final
Time: 03:00 hrs, Full Marks: 80/Pass Marks: 32

BCA102SH: Mathematics-II

Candidates are required to give their answers in their own words as far
as practicable.

The figures in the margin indicate Sfull marks.

Group A
Answer TWO questions. 2x12=24
/l (a) Define circle. Obtain an equation of circle. )

(b) Find the centre, vertices, foci and equation of the directrices of
the ellipse x2 + Sy2 + 4x = 1.

2(a) In any triangle, prove by vector method N . -

sind sinB sinC

(b) ¥ A=5¢*7 +tj—t’k and B=sinti —cost j, find
d - 5 . d - =
) =(4.B). (ii) —(Ax B).
(i) dt( ) a
}(a) Solve the differential equation x(x — y)dy = y(x + y)dx..

2
-

. | | o
- (b) Solve the second order differential equation: If- - 2_@ +4y=0.

Group B F
Answer EIGHT questions. 8x7=56
dy >
4/, Solve the differential equation: X ZX— +2y=x"logx.
5. Solve the second order differential equation:
2
Q—--—£—2y=sin2x+e‘.
&2 & - -
6. Find the center, foci, vertices, equation of directrices and
4 asymptotes of the hyperbola x2-y2-2x+4y=4.
Contd. ...
g W, & 8 TTTTET & 92 "aa }
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() _y
10 1)
7, HA=|-1 2 3l,thenﬁndt.hcvalueof#-SA‘-Ql.
5 -6 7) |
la b ¢l
8, Evaluate: la® b ¢’
al b3 c')

9., Test the consistency for the following system of linear equations
and if possible solve the system by Cramer's rule.

x—-y+z=3
2x+y—z=2
x+2y-2z=-1

10. Show— that the -~ vectors 55 +6b+ T8, 7d3—8b+ 9C and

3a + 205 + 5¢ are coplanar.
11, If 4 =x2y17—2:x_—f+2yzl;,ﬁnd vV x(VxA4).
9. Find the unit vector perpendicular to each of the vectors
—47+k. Also find the Sine of the angle

1
7+3f+2kand 20

" petween them.
Prove that: [5x5,5x5,5x5]=[55 2.

1%:

A
L el

P )

f }'(."r.\' R

/ ™
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i PURBANCHAL UNIVERSITY T

2017
4 Years Bachelor of Computer Apphication (BCA}/Sercnn

! Time: 03:00 hrs.

‘ o
a semester [ Fir al

Full Marks: 66/ Pass Marks 24
BCA172CO: Microprocessor & Assembly Language

—— e e e S—

Candidates are required to give their answers in their owrn 1ords as far
as possible.

Figures in the margin indicate full marks

Group A

Answer TWO questions. 2712=24

of 8086 Microprocessor

P
sfes 4 ’ ”

Draw an internal Architecture
explain each block.

2(a) Discuss various modes of operation of 2255 Pr
Peripheral Interfage.

(b) What is an-_interrupt service routine? Explain the
interrupts available in 8085 and 80801crcptccees:r.
L]

3( Depict how physical address is
microprocessor.

. .
generated in &

(by’ What is Address Decoding? Interface B8K13 of RAM arnd
ROM with 8085 microprocessor showing tne ran

and ending address of both RAM and ROM. 1

NN
=
Lo
.

Al

Group B
Answer SIX questions. £r5=36

4 What is DMA? Explain basic DMA operation.

W
."
[:.
(&)
.
b
{

‘5/ With example list out the various ;ddrcssing mode
8085 processor.

-

6. What are the instruction associated with multiplication and
Division in 8086 processor. Write 80835 instructicns te perferm
the multiplication 08H X O6H.

)

Contd. ...
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A PURBANCHAL UNIVERBITY

12O
of Computer Application (HCA)/Hecand
feull Markas lt“/l'nhh Marka 24

Sementer /Pinal
4 Years Bachelor i /

Time: 03:00 hrs,
BCA172CO: Microprocessor e Assambly Language

Dmii——

Candidates are required to give their ansiine
as possible.

as in thelr o words s fur

Rigures in the margin indicate full marks,

Group A

Answer TWO questions, IRV EVL

l/‘ Draw the internal architecture ol HORYS  milcropnocennol il
explain brietly the varions functional bloclks,

2 Draw the block dingram of 8255 programmable pei iphicinl

interface. Explain briefly the function of ench block.

3. Explain the block diagram of microcomputer nyslem Wiite
applications of microprocessor.,
Group i
Answer SIX questions, GAG=IG

47  Explain the operation of DMA.

5/ What do you mean by addressing mode? Dincass ditferent typen

' of addressing modes of 8085 microprocensor with example

6/ Differentiate between synchronous and asynchronous mode of
serial data tranamission,

7.  Draw and explain the timing dingram for a instraction OUT 02},

8. Write a program to find the largest number from n serles of
numbers. The hexadecimal numbers ol a series are 22, 52, 914,
3C, 4D, A2, ¥6, DA, 65, 9A, IFC. The count is stored in memaory
location CSO0H. The numbers are stored in the memory location
C501H to C50AH, Store the result in memory location CO2011,

9// Wwhat do you understand by address decoding in the cane of
memory interface? Explain address decoding using Simple NAND
Gate Decoder,

19/‘ Write short notes on any TWO; Dbt

(a) Assembler (y/Pm'ullcl communication (¢) Pending interrapt,

aaa
e
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PURBANCIHIAL UNIVERGITY ;

SO0y
A Years Hachelo ol ffnllllilllm /\Mylla it (l',(f/s)/flf-. GRS ,,1,-,///,,,“[ ;

Fime: 0000 hys, Kol Marbkg, OO0/ Vaus Marks: 24 ’
ihly Langudye |

NCALT720CO; Mivroprooessor fo Aunun

Candidatey are required to glue thel ansters

a8 posaible In their gun wrds o, Jur
S poninihle,

Mgrures in the argin dnedie e Jull ks,

Group A
Answer TWO Quenstions,
. I{/' Draw nn explinin the

0
D, Dinw the block lagram and explain varlous modey ol operations
oL u2L5 ppp,

2712524
block dingram of BOBY microprocessor, 14

12

/‘}““ What is DMA? 1w W block disgram 1o show ity relation with Mp

mnd 1/0 devicey, 244

(D) Explain in short nbout DMA operations. b
Group 1 -

Answer 81X questions, 626-36

\
}/ Differentinte between microprocessor and microcomputer nystem,
/.'1'/ Explain different typen of interrupt in 8085 Mp,
O Explain about serinl dnta ‘rangfer,

Zf What s flag  repintery Explain  ench flag, bt  of BOB6
microprocensor,

Explain various addrensing mode in 8085 MPp,

0/- What are varlous typen of instructions in BOB5 MP ubout data
© transfer group..

10, Write a program 1o adq oix data bytey starting from location
FCO0 to FCO5 und store the result at location FCO6,

11, Write short noten on any TWO: 223%6
(a) Dynamic RAM (b) Bquare of n number

(¢) Pentium computerns 4
-
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: PURBANCHAL UNIVERSITY o |

2017
4 Years Bnchclor of Computer Application (BCA)/Second Semester/ Minal
Time: 03:00 hrs.

Full Marks: 60/Pass Marks: 24
BCA191MS: Financial Accounting

Candidates are required to give their answers in their own words as far
as practicable.

Igure in the margin indicate Sull marks.

Group A
Answer TWO questions. 2x12=24
1. Consider the followinng information.
Liabilties | 2070 | 2069 | Assets 2070 | 2069 |
Account payable 130000|148000! cash & bank balance 5—2603 -JCL\E
Outstanding expenses 68000 | 63000 | Account recaivable 180000 1’10003
Sundry creditors 90000 {110000 | laventories 230000 200000
Longterm Bank lozn {350000{300000 Prepaid exp, 15000 | 25000
Equity share capital  |550000{400000 Land 750000 SCOC‘OO
Retained Earnings  |482000(324000 Plant & equipment 4SOODCLETL)OJ\
Additional Information:
(a) Sales revenue Rs 12,50,000.
(b) Cost of sales for the year Rs 7 ,00,000.
(c) Operating exp. including depreciation Rs 50,000 but
excluding interest Rs 25,000 was Rs 1 ,75,000.
(d) Tax and dividend paid during the year rcspcch\ ely Rs
150,000 and Rs 60,000 respectively
(¢) During the year company purchased the plant worth Rs
50,000.
Required: Cash flow statement under direct method
2.

Define the term 'Accounting’. Explain the objectives & scope of
financial accounting:

Contd. ...
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Additional Information:

#( 1) Trading Account
(ii) Profit and loss Account

(d) Advance commission received Rs. 1,000

(a) Depreciation: machinery 10%, furniture Rs. 5,000
(b) Provision for bad debt created 5%

(c) Bad debt written off Rs. 20,000

(iii) Balance sheet as on 31st December 2016

Answer SIX questions.

4

Group B

v

(2)

The following is the trial balance of a trader as on 31-17,.
Dobit Rs. Credit Rs..
Boginning stock | 1,50,000 | Saes 7.00,000
Purchase 300000 |10%Loan 170,000 |
Deblors | 1,50,000 | Capital 4,00,000
Interost 6,000 | Creditors | 57,000
Comageinward | 15,000 | Bills payable | 10,000
Machinery 3,50,000 | Commission | 6,000
Rent 20,000
Audil fees 2,000
Cash at bank 1,03,000
Goodwill 15,000
Drawing 50,000
Furniture 50,000
Bad debt 2,000
Wages 10,000
Salaries 20,000
Total 12,43, 000 12,43,000

20

-
<d

7::1\,0‘/

Y.

(¢) Outstanding cxpenses: Salary Rs. 5,000 and wages Rs. 3000
(f) Closing stock Rs. 1,00,000

Required:

6x6=36

The following cash and Banking transaction of ABC company
arc given;

contdl sen
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(3)

ace of Cagh and Bank Re 55, Q00 and 25w
{MNov 2015,  Dawence of Cash anx
respechvely.
5% Nov. 2015

10® Nov. 2015.
15% Nov. 2015
20% Nov. 2015.

Bought office equipment and paid by chegue e oo
Goads purchasze on cash Re 10 000

Sales made to Puja ks 250000 ¢ cash

Cash deposited in to bank Re 20 00

25% Nov 2015, Sales of goads to Dipesh amounting R 15000 payien

received by cheque Re 10,000 enly,

30" Nov 2015:  Cash withdraw Re 15000 for office vep

Required: Cash Book, with cash and Bank eolumn

Following are the information relating to o fivny

Annual Requirement OQ,000 unita  Ordering coat prer ovdes

Ra 200
Cost per unit Rs. 20 Cartving cost per dnit 0oy
\@F\T\- \ f\ Y ol \\\\ IRALEIRY

\
Required: (i) EOQ (ul No of \h\\v (M Total coet M 1 ‘\\

Harshika ax?d(»\ ther's Private Ltd. Puarelineed yninehidiesry i
Rs.10,00,000/- on ft January, 2004 Additional mimehinesy wins
purchased for Rs.600,000/- on 1% Octoler 2004 1y (i i
2006 a machinery purchase on 1= January . 200 wne ol
Rs.6,82,500/- and same date another machines

P ehiaae (o
Rq 5,00,000. The company written off depreciation (0 108
Strmght Line Method.

Required: Machinery A/C from 2004 to 2006
Define Trial Balance. Explain it's objective

Following are the balance sheet of SO e Pyea g A

3 & PETITER BL
chaitra 2070. '

Liabilities Rs, _1 A«g\q _ Ita

Share capital 12,00,000 t‘lau\h\h\ad\h\m ‘_"‘_.i‘(f-'\."i“‘

10% Mortgage loan | B0O000_| Fumivre [ &{0i0

Capital reserves | 200000 | Cunent assels RN

Current liabilities | 300,000 | Preliminary expenses | 150000

| Total ' 2500000 | Total | \3?* (NI

Canid
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/
/
(4) / |
Additional Information: / N
(@) Capital emploved trunoven Pt for the vene w4, ‘o
(1) Gross prolit margin woa 0% ol ninlon
(¢) Net profit margim 10%
Required !
(a) Amount ol sales (1) Aot o gaems polis
() Net profit () Vixed annsts {Urmover it

(e) Debt equity ratio

Wnite i short about VICD anndyate s AN analy afs
O

From the following information  calo ulate  prosaibils
varances.

. e e S g

e standard Aital

Material | Quantity Unit Pric e Ha Uit Podess 119
A L ! 0 :

L 1 10 "
S 0 1 "

A fitm furnishes the following atares 1y

syl Tevr 1)y
of January,

Ja'\JAfY i (j\ﬂmg batance 4%) unils €0 s B e it
Jawary ) Rocopts from vendor 1000 s 00 pay uind
January § Issued 750 uniy

J‘n".')' a Purchased 1100 uoits DRy} RN IGR

January 10 Returmned 10 vendor 10 ynits (o hased ooy By Jan,

January 12 esued 1 000 units i
January 15 Issued 200 units

January 28 Shortage in alock Lk ings %0 s

Required: Store ledger wnder 1110 e o

Write short note on any TWO

{a) Labour Variance
,U'.’ Payroll

() Standard cost cand

}d!’(‘.npual and revenue

n
3 oy

e dnd
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A Yeara Bachielor of Compiiter Application (BCA; /¢

Thpe: 0100 Wya,

Full Marks:
RCATOABI: Mathematios 11

PURBANCHAL UNIVERSITY

T - T 1
Second Semester [ Final

50/Pass Marks: 32

Candidates are yoquired Lo yive their ansiers in their ouwn

s practicahle.

The figures in the margin indicate Jull marks,
Group A

Annwer TWO questions,

M) Diefine  conie section.  Pind  the
4 t/ .Vy -l
i’ b

(h]/ Fined the
r 4

v

divergance and curl
= grad(x’ 4 ' 4 5 ~3xyz).

20) Tranaform the
toordinate,

W) R = QU Di <1 j 430k ana 7, =17 +j ~

suation z? syt s (5.1 /2y

d . . od o
(i) mlr,.r,)and (ii) —d—’(r, 7F,).

yy Holve the differential etquation.
d’
18)

dy
Ay 4 )y =",
dx’ de
(hY When a differential is said to be ezact? Scive th

equation: xdy — ydy —L/x’ ~ylde=0.
Croup B
Answer EIGHT questions,

I 6l
13 2)

1 2 4
} Pind the inverse matriz {0 ]

, tse Gauss elimination method to solve the
7 ny-22= <2, 37~y 42 = 6 and %-3y-4z= -4,

R B e e

equation of Hyperbol

words as far

=1/4 into spherical

(1 =)k , then fina

e differential

8x7=56

sysiem of equations:
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(2) ) !

o N (1 V). (23, | 4,
V‘{ A-:(‘ 3}.’32(3 _,S).( ‘(5 7),“““ A“, byt . p / “""1 .

’ (BC)'. v 7
la+b+2c a b
7. Show that ¢ h+c+2a b x Wavbrey
¢ a c4+a+ 'Zhl
8/. Find the constant a such that the yertnrs

21 - j 3 E’ i+ 2; -3k and 3+ u} + 5k are coplanar.

9. What is first order differential equation? Solve the differential
equations: xdy/dx+y=ec*

)0/ If @=log(x2+y2+2z2), find (i) div(grad#) and cu rl(gradd).
11. Define ellipse and determine an equation of ellipse.
12. Find the directional derivative of ¢(x,y,z)= xy2 + yz'at the
point (2, -1, 1) in the direction of T+j+2k.

A
A

N
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2017
4 Years Bachelor of Computer Application (BCA)/Second Semester/ Final
Time: 03:00 hrs. Full Marks: 60/Pass Marks: 24
BCA176CO: Object Oriented Programming in C++ }

/

Candidates are required to give their answers in their own words as far
as practicable.

Figure in the margin indicate full marks.

Group A
Answer TWO questions. 2x%x12=24

1(a) Define type conversion. Write a program to convert one class to
another class type by writing conversion routine in source class.1+7

(b) Explain exception handling mechanism with an example. 4

2(a)/ What is visibility mode? What are different inheritance visibility
mode are supported by C++? Discuss. 5

=S *(b)___\mupmgranLto_swap_nolar coordinate object and rectangular

coordinate object using fnend function. 7

‘

3(5} Explain types of mhentance with their syntax. 4

(b) Write a program to create "'al class EMP with_data member (1d,
“  Name, Address). Which allow the following operation: 8
(i) Enter the data of 5 employees '
(ii) Store in file. ;
(iii) And Display in appropnate format

Group_ B
Answer SIX questions. '.f 6%x6=36
: 4, Differentiate between OOP and POP. _ 6
é. Write a program to find smaller of two integer, float and double
numbers using function overloadmg 6
6. Mention features of a cpr;structor. Write a program to
demonstrate copy constructor. , 2+4

7/ Describe the concept of Nesting of Classes. 6

Contd. ..

N i e e et 0 S
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11.

(2)

What is 'mlynmrphimn? Describe virtual functin

example,

What is file handling? How can we use read and write functions ..

Define template. Write a program, using function template 1

find sum of elements of array of ty
size, N,

Write short notes on any TWO:
_An) Object oriented Design

(b) Abstract class
, () This pointer

i

K5
YA
pe int, float and double of
145
343
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PURBANCHAL UNIVERSITY
2_012
| 4 Years Hach

m‘,: { Cq mputer Application (BCA) /¢ yecond ‘\fr;x‘(\!.-gl]”m!
 Tune: 03.00 hrs

‘«IH Marks: 00/ Pags Mark
ac519uﬂ. JFinancial Accountin;

N 24
‘(l:‘:“}:::"";(:h"::" required to give their ans i 1510 thew own words gy far
thm'-"".”‘-«tmafg:n_md.mtﬁfu_{!:u@k.s.
Group A
Ansxer TWO questlons. 2%12%24
1 _(531-3‘(37)_}_“;'“‘ owinng information
|Looites | 2070 | 2066 | Asees BREDED)
!szif-_galab\e 1130000 146M‘usn&bank balance | 52000 w,c
lg‘_"i‘_"‘fﬂi eloenses 68000 | 53000 | | Account recevable '18(}2}00I '.3',‘:},
;_u_gndfv credtors | 30000 |110000| tnventores ” ,2303’)3 200000|
Long'erm Bank loan | 350000 300000 | Prepaid exp. 1150(;0 \ 25000
mey share capital 550000400000 | Land 750000 500000
| Retained Eamings [489000(324000 | Prant & equpment 1450000 450000
Additional Information: ,
(a) Sales revenue Rs 12,50,000. !
(b} Cost of sales for the year Rs 7,00,000. ‘
(c) Operating exp. including depreciation Rs 50 000 but '
excluding interest Rs 25,000 was Rs 1,75,000. ;
(d) Tax and dividend paid during the year respectively Rs
150,000 and Rs 60,000 respectively
() During the year company purchased the plant worth Rs
50,000.
Required: Cash flow statement under direct method.
¥

Define the term ‘Accounting’. Explain the objectives & scope of
financial accounting:

Contd. .-

..
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)3- The following is the trial balance of a trader as on 31-12- 2016,
Debit Rs. Credit Rs..
Beginning stock 1,50,000 | Saes 7,00,000
Purchase 3,00,000 |10%Loan |[70,000 -
Debtors 1,50,000 | Capital 4,00,000
Interest 6,000 Creditors 57,000
Carriage inward 15,000 Bills payable | 10,000
Machinery 3,50,000 | Commission | 6,000
Rent 20,000
] Audit fees 2,000
] " — Cash at bank 1,03,000
Goodwill 15,000
Orawing 50,000
Fumniture 50,000 -~
Bad debt 2,000
Wages 10,000
Salaries 20,000
Total 12,43, 000 12,43,000 i
Additional Information: =\
(a) Depreciation: machmery 10%, furniture Rs. 5,000 , '/: {
-~ (b) Provision for bad debt created 5% / ) / Vi
(c) Bad debt written off Rs. 20,000
(d) Advance commission received Rs. 1,000 A\_y/
(e) Outstanding expenses: Salary Rs. 5,000 and wages Rs. 3000
(f) Closing stock Rs. 1,00,000
Required: -
(i) Trading Account
(ii) Profit and loss Account
(iii) B‘a;lzmce sheet as on 31st December 2016 z
h Group B
Answer SIX questions. 6x6=36
4, The followmg cash and Banking transactlon of ABC company
/ are given;

Contd. ...
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Balance of Cash and Bank Rs.55, 000/- and 35,000/-

t .
1 Now 2015: respectively.

5" Nov. 2015:
10% Nov. 2015:
15 Nov. 2015:
20% Nov. 2015:

Bought office equipment and paid by cheque Rs. 15,000)-
Goods purchase on cash Rs. 10.000/-

Sales made to Puja Rs. 25,000/- on cash.

Cash deposited in to bank Rs.20,000/-

Sales of goods to Dipesh amounting Rs. 15,000/- payment
received by cheque Rs. 10,000/~ only.

30" Nov 2015:  Cash withdraw Rs. 15,000/- for office use.
Required: Cash Book, with cash and Bank column.

25" Nov 2015:

- Following are the information relating to a firm:

Annual Requirement 60,000 units Ordering cost per order
Rs.300
Carrying cost per unit 20%
" of inventory
(i) No of Order (iii) Total cost of EOQ.

Harshika and Father's Private Ltd. Purchased machinery for
Rs.10,00,000/- on ft January, 2004. Additional machinery was
purchased for Rs.600,000/- on 1st October 2004. On 30% June
2006 a machinery purchase on 1st January, 2004 was sold for
Rs.6,82,500/- and same date another machinery purchase @

Rs. 5,00,000. The company written off depreciation @ 10% on
Straight Line Method.

Cost per unit Rs.20

Required: (i) EOQ

Required: Machinery A/C from 2004 to 2006.
Define Trial Balance. Explain it’s objectives.

Following are the balance sheet of Sujit and Bros Itd. As on 31
chaitra 2070.

Liabilities Rs. Assels Rs.

Share capital 12,00,000 | Plant & Machinery | 10,00,000
10% Mortgage loan | 8,00,000 | Furniture 6,00,000
| Capital reserves | 2,00,000 | Current assets 7,50,000 o
| Current lidbilties | 3,00,000 | Preliminary expenses | 1:50,000
Total 25,00,000 | Total 25,00,000
' Contd. ...
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Additional Information:

(a) Capital employed trunover ratio for the year was 3 times.
(b) Gross profit margin was 20% of sales.

(c) Net profit margin 10%.

Required :

(a) Amount of sales
(c) Net profit

(e) Debt equity ratio
Write in short about VED analysis and ABC analysis

From the following info

(4)

(b) Amount of gross profit
(d) Fixed assets turnover ratio

OR
rmation calculate possible material

variances:
. standard Actual j
Material | Quantity Unit Price Rs. Unit Price Rs.
‘A 10 2 5 3
. B 20 3 10 6
C 20 6 15 5

. A firm furnishes the followin
of January. .

January 1
January 3
January 5
January 8
January 10
January 12
January 15
January 28

Required:

g stores transaction for the month

Opening balance 550 units @ Rs. 5 per unit
Recelpts from vendor 1000 units @ 6 per unit
[ssued 750 units
Purchased 1100 units @ Rs. 7 per unit
Retumed to vendor 50 units (purchased on 8th January)
[ssued 1,000 units ,
Issued 200 units ‘
Shortage in stock takings 50 units
Store ledger under LIFO method.

Write short note on amny TWO.

(a) Labour Variance

(b) Payroll

() gtandard cost card
(d) Capital and revenuc

AR
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